# A NOTE ON PARTITIONS OF NATURAL NUMBERS AND THEIR REPRESENTATION FUNCTIONS 

Wen Yu<br>School of Mathematics and Computer Science, Anhui Normal University, Wuhu, China<br>yw198832@126.com<br>Min Tang ${ }^{1}$<br>School of Mathematics and Computer Science, Anhui Normal University, Wuhu, China<br>tmzzz2000@163.com

Received: 1/4/12, Revised: 8/3/12, Accepted: 9/19/12, Published: 10/8/12


#### Abstract

Let $\mathbb{N}$ be the set of nonnegative integers. For a given set $A \subset \mathbb{N}$ the representation functions $R_{2}(A, n), R_{3}(A, n)$ are defined as the number of solutions of the equation $n=a+a^{\prime}, a, a^{\prime} \in A$ with condition $a<a^{\prime}, a \leq a^{\prime}$, respectively. For $i=2,3$, are there subsets $A, B \subset \mathbb{N}$ with $R_{i}(A, n)=R_{i}(B, n)$ for all large enough integers $n$ such that $\mathbb{N}=A \cup B$ and $A \cap B \neq \emptyset$ ? In this paper, we obtain some slightly weaker results in this direction.


## 1. Introduction

Let $\mathbb{N}$ be the set of nonnegative integers. For $A \subset \mathbb{N}$, let $A(n)$ be the counting function of set $A$ and let $R_{1}(A, n), R_{2}(A, n), R_{3}(A, n)$ denote the number of solutions of

$$
\begin{array}{llll}
a+a^{\prime}=n, & & a, a^{\prime} \in A, & \\
a+a^{\prime}=n, & & a, a^{\prime} \in A, & \\
a<a^{\prime} \\
a+a^{\prime}=n, & & a, a^{\prime} \in A, & a \leq a^{\prime},
\end{array}
$$

respectively. Sárközy asked ever whether there exist two sets $A$ and $B$ of nonnegative integers with infinite symmetric difference, i.e.

$$
|(A \cup B) \backslash(A \cap B)|=\infty
$$

[^0]and
$$
R_{i}(A, n)=R_{i}(B, n), \quad n \geq n_{0}
$$
for $i=1,2,3$. As Dombi [4] has shown, the answer is negative for $i=1$ by the simple observation that $R_{1}(A, n)$ is odd if and only if $n=2 a$ for some $a \in A$, and positive for $i=2$. For $i=3$, Chen and Wang (see [3]) presented a partition of the set of all positive integers into two disjoint subsets $A$ and $B$ such that $R_{3}(A, n)=R_{3}(B, n)$ for all $n \geq n_{0}$.

Using generating functions, Lev [5] and independently Sándor [6] gave a simple common proof to the results of Dombi and of Chen and Wang. Sándor actually established the following two stronger results(which are also implicit in Lev's paper): Theorem A. Let $N$ be a positive integer. The equality $R_{2}(A, n)=R_{2}(\mathbb{N} \backslash A, n)$ holds for $n \geq 2 N-1$ if and only if $A(2 N-1)=N$ and $2 m \in A \Leftrightarrow m \in A, 2 m+1 \in$ $A \Leftrightarrow m \notin A$ for $m \geq N$.
Theorem B. Let $N$ be a positive integer. The equality $R_{3}(A, n)=R_{3}(\mathbb{N} \backslash A, n)$ holds for $n \geq 2 N-1$ if and only if $A(2 N-1)=N$ and $2 m \in A \Leftrightarrow m \notin A, 2 m+1 \in$ $A \Leftrightarrow m \in A$ for $m \geq N$.

The second author of this paper [7] gave a more natural proof of Sándor's results. For the other related results, the reader is referred to see ([1], [2]).

It is natural to ask: for $i=2,3$, are there subsets $A, B \subset \mathbb{N}$ with $R_{i}(A, n)=$ $R_{i}(B, n)$ for all large enough integers $n$ such that $\mathbb{N}=A \cup B$ and $A \cap B \neq \emptyset$ ? Noting that if $A \cap B=\{2 k\}, A \cup B=\mathbb{N}$ and $R_{2}(A, n)=R_{2}(B, n)$ for $n \geq n_{0}$, then we have $R_{2}(A, 2 k-1)=A(2 k-1)-k$ and $R_{2}(B, 2 k-1)=B(2 k-1)-k$. Hence $A(2 k-1)=B(2 k-1)$ for $k \geq \frac{n_{0}+1}{2}$ and therefore $A(n)=B(n)$ for $n \geq n_{0}$, a contradiction.

In this paper, we obtain some slightly weaker results in this direction.
Theorem 1. If $\mathbb{N}=A \cup B$ and $A \cap B=\{4 k: k \in \mathbb{N}\}$, then $R_{2}(A, n)=R_{2}(B, n)$ cannot hold for all sufficiently large integers $n$.

Theorem 2. If $\mathbb{N}=A \cup B$ and $A \cap B=\{4 k: k \in \mathbb{N}\}$, then $R_{3}(A, n)=R_{3}(B, n)$ cannot hold for all sufficiently large integers $n$.

Remark 3. For $l=1,2,3$, we can prove that if $\mathbb{N}=A \cup B$ and $A \cap B=\{4 k+l$ : $k \in \mathbb{N}\}$, then $R_{i}(A, n)=R_{i}(B, n)$ cannot hold for all sufficiently large integers $n$, where $i=2,3$.

Currently, we cannot complete the following conjecture.
Conjecture 4. Let $m \in \mathbb{N}$ and $R \subset\{0,1, \cdots, m-1\}$. If $\mathbb{N}=A \cup B$ and $A \cap B=$ $\{r+k m: k \in \mathbb{N}, r \in R\}$, then $R_{i}(A, n)=R_{i}(B, n)$ cannot hold for all sufficiently large integers $n$, where $i=2,3$.

## 2. Proofs

The proofs are very similar, we only present here the proof of Theorem 1.

Proof. Suppose that there exist an integer $n_{0}$ and $A, B \subset \mathbb{N}$ with $A \cup B=\mathbb{N}$ and $A \cap B=\{4 k: k \in \mathbb{N}\}$ such that $R_{2}(A, n)=R_{2}(B, n)$ for all $n \geq n_{0}$. Without loss of generality, we may assume that $n_{0}=8 N-1, N$ is a positive integer; then there exists a polynomial $p(x)$ of degree at most $8 N-2$ such that

$$
\begin{equation*}
\sum_{n=0}^{\infty}\left(R_{2}(A, n)-R_{2}(B, n)\right) x^{n}=p(x) \tag{1}
\end{equation*}
$$

Let

$$
f(x)=\sum_{a \in A} x^{a}, \quad g(x)=\sum_{b \in B} x^{b}
$$

and

$$
\varepsilon_{i}= \begin{cases}1, & i \in A \\ 0, & i \notin A\end{cases}
$$

Then we have

$$
f(x)=\sum_{a \in A} x^{a}=\sum_{i=0}^{\infty} \varepsilon_{i} x^{i}
$$

and

$$
\sum_{n=0}^{\infty} R_{2}(A, n) x^{n}=\frac{1}{2}\left(f^{2}(x)-f\left(x^{2}\right)\right)
$$

Moreover,

$$
\begin{aligned}
g(x) & =\sum_{b \in B} x^{b}=\sum_{b \in(\mathbb{N} \backslash A) \cup(A \cap B)} x^{b} \\
& =\sum_{n=0}^{\infty} x^{n}-f(x)+\frac{1}{1-x^{4}} \\
& =\frac{2+x+x^{2}+x^{3}}{1-x^{4}}-f(x),
\end{aligned}
$$

and

$$
\begin{aligned}
& \sum_{n=0}^{\infty} R_{2}(B, n) x^{n}=\frac{1}{2}\left(g^{2}(x)-g\left(x^{2}\right)\right) \\
= & \frac{1}{2}\left(\left(\frac{2+x+x^{2}+x^{3}}{1-x^{4}}-f(x)\right)^{2}-\left(\frac{2+x^{2}+x^{4}+x^{6}}{1-x^{8}}-f\left(x^{2}\right)\right)\right) \\
= & -\frac{1}{1-x^{2}}-\frac{x+1}{1-x^{4}}+\frac{x^{4}}{\left(1-x^{4}\right)^{2}\left(1+x^{4}\right)}+\frac{3}{(1-x)\left(1-x^{4}\right)} \\
& -f(x) \frac{2+x+x^{2}+x^{3}}{1-x^{4}}+\frac{1}{2} f^{2}(x)+\frac{1}{2} f\left(x^{2}\right) .
\end{aligned}
$$

Therefore,

$$
\begin{align*}
& \sum_{n=0}^{\infty}\left(R_{2}(A, n)-R_{2}(B, n)\right) x^{n} \\
& =\frac{1}{1-x^{2}}+\frac{x+1}{1-x^{4}}-\frac{x^{4}}{\left(1-x^{4}\right)^{2}\left(1+x^{4}\right)}  \tag{2}\\
& -\frac{3}{(1-x)\left(1-x^{4}\right)}+f(x) \frac{2+x+x^{2}+x^{3}}{1-x^{4}}-f\left(x^{2}\right)
\end{align*}
$$

Write

$$
p(x)\left(1-x^{4}\right)=\sum_{i=0}^{8 N+2} \alpha_{i} x^{i}
$$

By (1) and (2), we have

$$
\begin{align*}
& \left(2+x+x^{2}+x^{3}\right) f(x) \\
& =f\left(x^{2}\right)-x^{4} f\left(x^{2}\right)+\frac{x^{4}}{1-x^{8}}+\frac{3}{1-x}  \tag{3}\\
& -x^{2}-x-2+p(x)\left(1-x^{4}\right)
\end{align*}
$$

Write both sides of (3) in power series, we have

$$
\begin{align*}
& \sum_{i=0}^{\infty} 2 \varepsilon_{i} x^{i}+\sum_{i=0}^{\infty} \varepsilon_{i} x^{i+1}+\sum_{i=0}^{\infty} \varepsilon_{i} x^{i+2}+\sum_{i=0}^{\infty} \varepsilon_{i} x^{i+3} \\
& =\sum_{i=0}^{\infty} \varepsilon_{i} x^{2 i}-\sum_{i=0}^{\infty} \varepsilon_{i} x^{2 i+4}+\sum_{i=0}^{\infty} x^{8 i+4}+\sum_{i=0}^{\infty} 3 x^{i}  \tag{4}\\
& -x^{2}-x-2+\sum_{i=0}^{8 N+2} \alpha_{i} x^{i}
\end{align*}
$$

Comparing the coefficients of $x^{8 N+3}, x^{8 N+4}$ on the both sides of (4), we have

$$
\left\{\begin{array}{l}
2 \varepsilon_{8 N+3}+\varepsilon_{8 N+2}+\varepsilon_{8 N+1}+\varepsilon_{8 N}=3 \\
2 \varepsilon_{8 N+4}+\varepsilon_{8 N+3}+\varepsilon_{8 N+2}+\varepsilon_{8 N+1}=\varepsilon_{4 N+2}-\varepsilon_{4 N}+4
\end{array}\right.
$$

Since $A \cap B=\{4 k: k \in \mathbb{N}\}$, we have $\varepsilon_{4 N}=\varepsilon_{8 N}=\varepsilon_{8 N+4}=1$, thus

$$
\left\{\begin{array}{l}
2 \varepsilon_{8 N+3}+\varepsilon_{8 N+2}+\varepsilon_{8 N+1}=2 \\
\varepsilon_{8 N+3}+\varepsilon_{8 N+2}+\varepsilon_{8 N+1}=\varepsilon_{4 N+2}+1
\end{array}\right.
$$

hence

$$
\varepsilon_{8 N+1}=0, \varepsilon_{8 N+2}=0, \varepsilon_{8 N+3}=1, \varepsilon_{4 N+2}=0
$$

or

$$
\varepsilon_{8 N+1}=1, \varepsilon_{8 N+2}=1, \varepsilon_{8 N+3}=0, \varepsilon_{4 N+2}=1
$$

Comparing the coefficients of $x^{8 N+5}$ on the both sides of (4), we have

$$
2 \varepsilon_{8 N+5}+\varepsilon_{8 N+3}+\varepsilon_{8 N+2}=2
$$

then $\varepsilon_{8 N+2}=\varepsilon_{8 N+3}=0$ or $\varepsilon_{8 N+2}=\varepsilon_{8 N+3}=1$, a contradiction.
This completes the proof of Theorem 1.

## References

[1] Y. G. Chen, On the values of representation functions, Sci. China Math. 54(2011), 1317-1331.
[2] Y.G. Chen and M. Tang, Partitions of natural numbers with the same representation functions, J. Number Theory 129(2009), 2689-2695.
[3] Y.G. Chen and B. Wang, On additive properties of two special sequences, Acta Arith. 110(2003), 299-303.
[4] G. Dombi, Additive properties of certain sets, Acta Arith. 103(2002), 137-146.
[5] V.F. Lev, Reconstructing integer sets from their representation functions, Electron. J. Combin. 11(2004), R78.
[6] C. Sándor, Partitions of natural numbers and their representation functions, Integers 4(2004), A18.
[7] M. Tang, Partitions of the set of natural numbers and their representation functions, Discrete Math. 308(2008), 2614-2616.


[^0]:    ${ }^{1}$ Corresponding author. This work was supported by the National Natural Science Foundation of China, Grant No 10901002, the foundation for reserved candidates of 2010 Anhui province academic and technical leader and Anhui Provincial Natural Science Foundation, Grant No 1208085QA02. Email: tmzzz2000@163.com

